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Few brands have been as successful, for as long, as Cadburys Dairy Milk. Launched in 1905, it became the UK’s market leader 80 years ago, and has remained the same ever since. Today over 250 million bars of Dairy Milk are sold each year around the world. In many markets, product life cycles are getting shorter, but 101 years from its birth, Dairy Milk is still enjoying peak sales. How has it managed this?

Over the years, Cadbury has been at the forefront of marketing management. It almost wrote the marketing textbook. Among its great successes have been:

· Branding: understanding the need to maintain consistent themes and images, while still keeping packaging and advertising up to date. So the theme on today’s Dairy Milk pack still goes back to the launch campaign: ‘a glass and a half of full cream milk in every half pound’
· Innovation, with a steady diet of new brands to keep customers interested and to make it hard for competitors to get a foothold in the market. Cadbury’s Flake emerged in 1920 when an employee noticed that chocolate escaping from a moulding machine formed a crumbly texture when it cooled. Fruit and Nut came in 1928, the Crème Egg in 1971 and many others in between.
· Market segmentation, using its acute understanding of the market. Segmentation by age led to Cadbury’s Fudge (1948) and Buttons (1960) for kids, and Roses (1938) and Miniature Heroes (1999) for older adults. Today the race is on to establish a new segment for lower calorie chocolate. Cadbury launched three 99-calorie bars in 2005 and went further in 2006 with a no-sugar chocolate bar under the ‘Highlights’ brand. 

· Product life cycle (and extension strategies). With so many old brands, Cadbury has shown how to massage them to keep them flourishing. It has always been willing to take risks to update the packaging and image of older brands, to extend their profitable lifetime. 

Cadbury has also been helped by the mistakes made by its rivals. Until 1977 Rowntree was hot on Cadbury’s heels with its hugely successful Yorkie chocolate bar and KitKat. Then, in a huge takeover battle, Nestle bought up Rowntree. Cadbury expected that the wealthy Swiss giant would be a tough competitor, but in fact Nestle has been a disastrous brand owner. It allowed the Yorkie brand to die back and has handled KitKat incompetently. Too many brand changes and bizarre brand launches (Peanut Butter, Lemon flavour etc) have led to a rumoured 25% fall in sales of KitKat in 2006.  
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Mars has also been struggling to find a clear strategy in recent years. Its strength had always been in chunkier, filling chocolate bars such as Mars, Snickers and Twix. Recent worries about obesity have been great for sales of Maltesers (also a Mars product) but awful for the ‘filling chocolate bar’ category. The Mars brand Galaxy is always competitive, but has never been able to become more than a minority taste. It is highly differentiated from Cadbury’s Dairy Milk, both in taste and image. This is intelligent marketing, but makes it hard to gain market share from the Number 1. 

2006 Setbacks 
Then, in June 2006 disaster struck.  Cadbury was front page news.  Its products had been contaminated with salmonella.  On June 23rd they were forced to remove 1 million chocolate bars from the shops.  As well as the product recall they made the decision to take a break from their sponsorship of Coronation Street for six weeks.  The fiasco cost the company £20m, without taking into account any future lost sales. Cadbury's chocolate sales were down 14% in July, twice as much as the market, which suffered as the sun shone. 
The reason for the salmonella proved to be poor maintenance at a Cadbury factory in Herefordshire. Senior Cadbury managers had known about the problem since January, but did nothing, because quality checks showed that the presence of salmonella was ‘too low to be harmful’. It was only the alertness of the government Food Standards Agency that uncovered the problem. It noticed an unusual rise in cases of food poisoning, and tracked it down to Cadbury’s chocolate. It is sometimes said that trust, once broken, can never be restored. In fact, the British chocolate buyer seems to have forgiven Cadbury remarkably quickly. Sweetshop owners are saying, in late September, that Cadbury sales are back to normal. One hundred years of Dairy Milk marketing has paid off. 
2006 Going Forward

This Autumn, Cadbury Dairy Milk ‘Melts’ will hit the shelves.  Available in dark, milk and praline variants, each box will contain individually wrapped pieces of chocolate with a soft chocolate centre, and will be promoted as an indulgent treat.  Cadbury will also launch a dark Flake variant. Cadbury is tapping into a growing market with this particular launch. The £160m UK dark chocolate market is growing at 13% a year as consumers respond to reports that dark chocolate is healthier than milk. It is hard to see these brands lasting for 100 years, but if Cadbury’s leaves gaps, others may fill them.
Conclusion

Are we right to ‘trust’ a brand or a company in the way people have trusted Cadbury? Of course not. The managers currently running Cadbury deserve nothing but criticism. No-one should trust ‘Benson & Hedges’ to look after the health of smokers, or BP to care about the environment. Yet Cadbury is different from most other companies. Its history is steeped in exceptional efforts to look after its workers, as can be seen around the Bourneville factory in Birmingham. It would be nice to think that today’s managers care about those traditions. It is to be hoped that the salmonella scandal will have reminded them that good managers care about their customers most of all. 
Questions – AS level; 30 marks

1. Outline 2 possible explanations for the long product life spans of many of the brands mentioned in the text.








(4)
2a) What is meant by the term innovation?





(2)

2b) Explain the importance of innovation in the successful marketing of chocolate bars.
(5)


3.    Explain why Cadbury will want to research into the potential sales level for the Dark chocolate variant of Flake.  







(7)
4.    Identify three conclusions to be drawn from the UK market share graph. How well do they fit in with the statements in the text?






(6)
5.   Some commentators express the view that Cadbury should not be promoting their products to children.  To what extent do you agree with their view?



(8)


Cadburys Mark Scheme – AS level

1.   Outline 2 possible explanations for the long product life spans of many of the brands mentioned in the text.








(4)

	2
	2

	CONTENT
	APPLICATION

	2
	2

	Good understanding shown of factors involved in long product life spans
	Relevant issues applied in detail to the case 

	1
	1

	Some understanding of the relevant terms
	Relevant issues applied to the case


Possible answers include:
· Whereas technology transforms lots of markets over time (sweeping away older brands) change in tastes and production methods seems exceptionally slow in the chocolate business
· Whereas saturation causes sales to fall for one-off purchases such as carpets or sandwich toasters, people keep wanting their daily fix of chocolate; another day, another chocolate bar
2a) What is meant by the term innovation?





(2)

Bringing a new idea to the marketplace
2b) Explain the importance of innovation in the successful marketing of chocolate bars.












(5)


	2
	3

	CONTENT
	APPLICATION

	2
	3

	Good understanding shown of factors involved in innovation
	Relevant issues applied in detail to the case 

	1
	2-1

	Some understanding of the relevant terms
	Relevant issues applied to the case


Possible answers include:
· Despite the long product life cycles, consumer requirements change, e.g. the difficult position of Mars in relation to their big brands: Mars, Snickers and Twix (one of Mars’ responses was the launch of Mars Flyte)
· For Nestle to recover their dismal market share position (see graph) they will clearly need more than just another KitKat advertising campaign; the company needs a brilliant new product success
3.    Explain why Cadbury will want to research into the potential sales level for the Dark chocolate variant of Flake.  







(7)
	2
	2
	3

	CONTENT
	APPLICATION
	ANALYSIS

	2
	2
	3

	Good understanding shown of relevant terms
	Relevant issues applied in detail to the case 
	Analysis of the reasons why

	1
	1
	2-1

	Some understanding of the relevant terms
	Relevant issues applied to the case
	One or two points applied in a limited way to analyse the Q.


Possible approaches include:

· They want to make as sure as they can that sales will be high enough to justify the launch spending, but not too high for the level of production capacity
· If research shows that it’s likely to be a big success, the company can get its sales force to push the new brand hard into as many retail outlets as possible

· If sales look very promising, Cadbury’s could start to look, straight away, at the prospects for launching into other countries.
4.    Identify three conclusions to be drawn from the UK market share graph. How well do they fit in with the statements in the text?





(6)

	2
	2
	2

	CONTENT
	APPLICATION
	ANALYSIS

	2
	2
	2

	Good understanding shown of relevant terms
	Relevant issues applied in detail to the case 
	Analysis of the reasons why

	1
	1
	1

	Some understanding of the relevant terms
	Relevant issues applied to the case
	One or two points applied in a limited way to analyse the Q.


Possible approaches include:

· Cadbury’s market share has risen to beyond 30%, as suggested by the text (though whether this continues in 2006 remains to be seen)
· Mars has struggled, but perhaps not done badly considering the problems it faces with Mars, Snickers and Twix

· Nestle has lost market share quite sharply, from about 18% to below 15%. It has gone from being in touch with the big two in 2001 to being less than half Cadburys’ market share in 2005. This confirms the view from the text that ‘Nestle has been a disastrous brand owner’.
5. Some commentators express the view that Cadbury should not be promoting their products to children.  To what extent do you agree with their view?


(8)

	MARKING GRID (Out of 8)

	2
	2
	2
	2

	CONTENT
	APPLICATION
	ANALYSIS
	EVALUATION

	2
	2
	2
	2

	Understanding of relevant terms/issues
	Relevant issues applied in some detail to the case 
	Analysis of question set, using relevant theory
	Judgement shown in discussing the issues raised, reaching a balanced conclusion

	1
	1
	1
	2-1

	Some understanding of the relevant terms
	Relevant issues applied to the case
	An attempt at building an argument, but weakly
	Some judgement shown in text or conclusions


Possible themes might include:
For promoting chocolate to children

· Children will spend money on whatever they choose.  Better chocolate than cigarettes

· Parents should take responsibility for their own children ; if children are eating too much, they should be stopped.

· All products are clearly labelled and the precise nutritional information is available.

Against promoting chocolate to children

· Children lack the knowledge about what is good or bad for them.  They may not realise that eating too much chocolate is not the best way to eat throughout the day.

· Eating too many Cadbury products can play havoc with sugar levels and one’s ability to concentrate.  Children might have a dip in their concentration levels just as they were about to learn about business ethics.
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